BID SUMMARY May 7, 2012

1. No. CC050712-02.3 – Maple Avenue Street Reconstruction Project No. ST09-1859 / CIP No. 50424.5 (Opened on May 1, 2012)

ADVERTISING AUTHORITY	\$645,000.00
ENGINEER'S ESTIMATE	\$670,000.00

	Base Bid
1. Heavy Constructors, Inc.**	\$728,225.64
2. Mainline Contracting, Inc.**	\$735,351.30
3. Hills Materials Company**	\$714,392.12
4. R.C.S. Construction, Inc.**	\$721,840.09
5. Simon Contractors of SD, Inc.**	\$825,774.00
6. Tru-Form Construction, Inc.**	\$866,811.30

^{*} Cashier's Check, Money Order or Bank Draft Submitted

2. No. CC050712-02.1 – Stirling Street Sanitary Sewer Extension Project No. SS10-1904 / CIP No. 50838 (Opened on May 1, 2012)

ADVERTISING AUTHORITY	\$180,000.00
ENGINEER'S ESTIMATE	\$166,000.00
ENGINEER'S ESTIMATE ALT #1	\$12,000.00

	Base Bid	Alternate 1
1. Mainline Contracting, Inc.**	\$231,590.00	\$13,927.00
2. Hills Materials Company**	\$257,658.25	\$12,267.50
3. R.C.S. Construction, Inc.**	\$201,919.00	\$17,935.00

^{*} Cashier's Check, Money Order or Bank Draft Submitted

3. No. CC050712-02.2 – Street Rehabilitation Project - City Springs & Meadowwood Area Project No. 12-1984 / CIP No. 50549 (Opened on May 1, 2012)

ADVERTISING AUTHORITY	\$400,000.00
ENGINEER'S ESTIMATE	\$386,000.00
ENGINEER'S ESTIMATE ALT #1	\$49,750.00

	Base Bid	Alternate 1
Hills Materials Company**	\$422,158.15	\$53,929.00
2. Simon Contractors of SD, Inc.**	\$431,135.75	\$56,250.00

^{*} Cashier's Check, Money Order or Bank Draft Submitted

^{**} Bid Bond Submitted

^{**} Bid Bond Submitted

^{**} Bid Bond Submitted

BID AWARD SUMMARY

LETTING DATE: May 1, 2012

PROJECT: Street Rehabilitation Project - City Springs & Meadow wood Area Project No. 12-1984 / CIP No. 50549

RECOMMENDATION: Award Total Base Bid in the amount of \$422,158.15 to Hills Materials Company at the May 7, 2012 Council Meeting.

BIDDER'S SUMMARY

CONTRACTORS	BASE BID	ALTERNATE 1
Hills Material Company	\$422,158.15	\$53,929.00
Simon Contractors of SD, Inc.	\$431,135.75	\$56,250.00

City staff recommends awarding this project to Hills Materials Company for a total base bid amount of \$422,158.15 based on unit pricing with the following appropriation:

FUNDING SOURCE	TOTAL	Streets
ADVERTISING AUTHORITY	\$400,000.00	\$400,000.00
ENGINEER'S ESTIMATE BASE BID	\$386,000.00	AND THE CONTRACT OF THE CONTRA
ENGINEER'S ESTIMATE – ALTERNATE 1	\$49,750.00	makanidahakudan kadan

APPROPRIATION DATA:

FUNDING SOURCE	TOTAL	Street
COST CENTER		8910
LINE ITEM	AND A STATE OF THE	4370
FUNDING CENTER	· III	0505
BID AMOUNT	\$422,158.15	\$422,158.15

DATE: 5/2/12 PROJECT MANAGER:

PROJECT NAME: PAVEMENT REHABILITATION PROJECT - CITY SPRINGS AND

MEADOWWOOD AREA

PROJECT NUMBER: PROJECT NO. 12-1984 / CIP NO. 50549

LET DATE: MAY 1, 2012

LOW BID AMOUNT: \$422,158.15

		,		ENGINEER'S	S ESTIMATE	HILLS MATERIALS COMPANY		SIMON CONTRACTORS SD, INC.	
ITEM NO.	DESCRIPTION OF ITEM	UNIT	QTY (EST)	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	BASE BID								3
1	MOBILIZATION	LS	1.00	\$10,000.00	\$10,000.00	\$8,100.00	\$8,100.00	\$5,000.00	\$5,000.00
2	REMOVE CURB & GUTTER	LF	2,212.00	\$6.00	\$13,272,00	\$8.60	\$19,023.20	\$9.00	\$19,908.00
3	REMOVE PCC PAN	SYD	18.00	\$30.00	\$540.00	\$19.65	\$353.70	\$15.25	\$274.50
4	REMOVE SIDEWALK	SF	907.00	\$2.00	\$1,814.00	\$2.20	\$1,995.40	\$2.75	\$2,494.25
5	REMOVE ASPHALT	SYD	4,009.00	\$6.00	\$24,054.00	\$9.00	\$36,081.00	\$8.50	\$34,076.50
6	18" ASPHALT MILLING	SYD	1,150.00	\$9.00	\$10,350.00	\$13.50	\$15,525.00	\$14.00	\$16,100.00
7	REMOVE DRIVEWAY APPROACH	SYD	55.00	\$15.00	\$825.00	\$20.00	\$1,100.00	\$25.50	\$1,402.50
. 8	REMOVE MANHOLE	EA	1.00	\$750.00	\$750.00	\$2,250.00	\$2,250.00	\$2,400.00	\$2,400.00
9	ADJUST MANHOLE	EA	2.00	\$300.00	\$600.00	\$185.00	\$370.00	\$400.00	\$800.00
10	CHIMNEY SEAL	EA	1.00	\$350.00	\$350.00	\$560.00	\$560.00	\$600.00	\$600.00
11	ADJUST WATER VALVE	EA	3.00	\$100.00	\$300.00	\$55.00	\$165.00	\$165.00	\$495.00
12	CURB & GUTTER	LF	2,050.00	\$20.00	\$41,000.00	\$19.20	\$39,360.00	\$25.00	\$51,250.00
13	4" SIDEWALK	SF	1,632.00	\$6.00	\$9,792.00	\$6.90	\$11,260.80	\$5.00	\$8,160.00

ŗ										
	14	DETECTABLE WARNING PANEL	SF	140.00	\$35.00	\$ 4,900.00	\$35.00	\$4,900.00	\$28.00	\$3,920.00
,	15	6" REINFORCED PCC PAN	SYD	178.00	\$78.00	\$13,884.00	\$84.35	\$ 15,014.30	\$63.00	\$11,214.00
	16	6" REINFORCED PCC FILLET	SYD	150.00	\$78.00	\$11,700.00	\$84.35	\$ 12,652.50	\$86.00	\$12,900.00
	17	DRIVEWAY APPROACH	SYD	55.00	\$78.00	\$4,290.00	\$68.50	\$3,767.50	\$76.00	\$4,180.00
	18	SANITARY MANHOLE	EA	1.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$7,500.00	\$7,500.00
	19	CONNECT TO EXISTING SEWER MAIN	EA	4.00	\$200.00	\$800.00	\$280.00	\$1,120.00	\$700.00	\$2,800.00
	20	BASE COURSE	TON	1,637.00	\$24.00	\$39,288.00	\$37.25	\$60,978.25	\$26.50	\$43,380.50
	21	ASPHALT	TON	777.00	\$102.00	\$79,254.00	\$111.00	\$86,247.00	\$98.50	\$ 76,534.50
	22	AE150S	TON	53.00	\$725.00	\$38,425.00	\$675.00	\$35,775.00	\$835.00	\$44,255.00
	23	COVER AGGREGATE	TON.	505.00	\$62.00	\$31,310.00	\$64.00	\$32,320.00	\$72.50	\$36,612.50
	24	FOG SEAL	TON	9.30	\$1,200.00	\$11,160.00	\$900.00	\$8,370.00	\$1,500.00	\$13,950.00
	25	4" PAVEMENT MARKING - PAINT	LF	570.00	\$0.60	\$342.00	\$0.85	\$484.50	\$0.85	\$484 .50
	26	PAVEMENT MARKING - ARROW	. EA.	2.00	\$75.00	\$150.00	\$45.00	\$90.00	\$47.00	\$94.00
•	27	TRAFFIC CONTROL "	L\$	1.00	\$14,000.00	\$14,000.00	\$9,700.00	\$9,700.00	\$10,800.00	\$10,800.00
•	28	INLET PROTECTION	EA	21.00	\$75.00	\$1,575.00	\$95.00	\$1,995.00	\$100.00	\$2,100.00
	29	EROSION CONTROL	LS	1.00	\$4,000.00	\$4,000.00	\$290.00	\$290.00	\$2,700.00	\$2,700.00
,	30	SEED/FERTILIZE/MULCH	SYD	700.00	\$3.50	\$2,450.00	\$2.30	\$1,610.00	\$4.50	\$3,150.00
ļ	31	INCIDENTAL	L\$	1.00	\$9,825.00	\$9,825.00	\$4,700.00	\$4,700.00	\$11,600.00	\$11,600.00
		BASE BID	TOTA	L		\$386,000.00		\$422,158.15		\$431,135.75

	ALTERNATE 1:						THE STATE OF		
1	REMOVE ASPHALT	SYD	1,510.00	\$2.50	\$3,775.00	\$1.40	\$2,114.00	\$7.50	\$11,325.00
2	REMOVE CURB & GUTTER	LF	50.00	\$15.00	\$750.00	\$10.00	\$500.00	\$19.50	\$975.00
3	CURB & GUTTER	LF	50.00	\$25.00	\$1,250.00	\$19.20	\$960.00	\$40.00	\$2,000.00
4	BASE COURSE	TON	680.00	\$21.00	\$14,280.00	\$34.00	\$23,120.00	\$23.00	\$15,640.00
5	ASPHALT	TON	340.00	\$80.00	\$27,200.00	\$76.50	\$26,010.00	\$71.50	\$24,310.00
6	INCIDENTAL - ALTERNATE	LS	1.00	\$2,495.00	\$2,495.00	\$1,225.00 .	\$1,225.00	\$2,000.00	\$2,000.00
	ALTER	\$49,750.00		\$53,929.00		\$56,250.00			

I certify that, to the best of my knowledge, this is a true tabulation of bids received for this project.

Todd Peckosh, PE Project Manager